1EILLE]

£ 5ih

hE# A EED
SFI5%E4 A

=(ZTD3)



AHEERER RSB 5 B R 2 B (- 12m) S TH(Z D3)
% # K - BARH A By g i & # =

EEIEE 408, 700, 333
MEIEE 147,420,002 + 137, 194, 886 284, 614, 888
#BERRE GH 109, 682, 270 + 36,233,285 + 1,504, 447 147, 420, 002
#BREE (WL 109, 682, 270
HBERRE (X) 417,915,633 x 8.67% ((3.71% x1.68 +1.50% x 1.100 x 1.02) 36, 233, 285
BERERER 417,902,133 x 0.36% 1,504, 447
RiGEEE 556,120,335 x 24.67% ((20.33% +1.44%) x 1.100 x 1.03) 137,194, 886
ITERIE 408,700,333 + 284, 614, 888 693, 315, 221
—REEEE 693,315,221 x 12.91% (12.91% x 1.00) — 9,542 89, 497, 453
DHRITE 693,315,221 x 0.04% 277, 326
TEAm4E 693,315,221 + 89,497,453 + 277,326 783, 090, 000
EEREE 2,402,710
MiEREE 5,659, 379
ERE 8,062,089 x 47.3% — 5,457 3,807,911
—BRAEERE 2,402,710 + 5,659,379 + 3,807,911 11, 870, 000
REEBE 11, 870, 000
BEHEE 783,090, 000 + 11,870, 000 794, 960, 000
HEGEMALE 794,960,000 x 10.00% 79, 496, 000




EHRERER

REJ{EILEE BHX FE(-12mEETH(ZD3I)

R - BARSTiE

AL

feln

fif

FRIRE

874, 456, 000




BHERERRE

RoIfBILEE B X T BE(-12m)EE T H(ZD3I)

% Ed IR - wAKTiE Bff o = i oo ] =
BEEIEE 408, 700, 333
BB (-12m) 408, 700, 333
BEMEET 166, 407, 961
aMEET 77,793, 885
WEARHE 500kg~1, 000kgfA/ >k 22, 850, 210
-1 HEAHEE 1,901.00 11,731 22,300, 631
m3
1-2 BA# 535 B - ER 1,901. 00 289. 1 549, 579
m3
2E - SEHEE 20, 487,175
1-3 217 - GREE 200kg/ B 5 2,179.00 9,113 19, 857, 227
m3
1-4 B# 535 B - ER 2,179. 00 289. 1 629, 948
m3
ABHINE 34, 456, 500
1-5 AH/INE RAHZ30emEL T 2,223.00 15, 500 34, 456, 500
m3
73 27, 361, 580
535 KR 27, 361, 580
1-6 &' 5 JKiE HEETENIO 14, 184. 00 1,760 24,963, 840
m3
1-7 95 %% m (EEHhizA) fHxR Ay hRT S TEER 1.00 2,397, 740 2,397, 740
=
TiT 61,252, 496
T EME R 7,616, 808




BHERERRE

RoIfBILEE B X T BE(-12m)EE T H(ZD3I)

£ 5 g - BT B H =2 i & % wm =

1-8 LEMER 1, 300m3%& (##ii) 14,184. 00 537 7,616, 808
m3

BLtTiET 32,662,012

1-9 ZREEHL /D 6, 000PSEY 14,184.00 2,203 31, 247, 352
m3

1-10 ZEREEMIEE 1.00 1,414, 660 1,414, 660
=

HRERET 20, 960, 176

1-11 I ENYESHRE - BE 1.00 1,009, 998 1,009, 998
#H

1-12 ELEZRERE - BE ZHES. Om 2,148.00 1,782 3,827,736
m

1-13 B E (EL2ZHL)HRE - BE ¢ 660mm 2,148.00 2,709 5,818,932
m

1-14 J0—42EHE - BE ¢ 1, 300mm 54.00 10, 858 586, 332
m

1-15 HR SR s ¢ 660mm 1.00 7,763, 888 7,763, 888
=

1-16 HERDHED iEEYEHIHE (0. Tm3) 1.00 642, 406 642, 406
=

1-17 SRR LB TR 7IL EEERR. 15emL T 20.00 549.7 10,994
m

1-18 EHEMRBER T AT 7 bEER. 15emEA T 39.00 167 6,513
m2

1-19 7R 77 )L F3EH HEEARBERE. 15emA TR 4.00 2,199 8, 796
m3

1-20 ER¥EY 569. 00 278.6 158, 523
m3

1-21 #RL 563. 00 1,730 973, 990
m3

1-22 EIEpRig FRA#. t=15cm 39. 00 232.2 9, 055
m2

1-23 &2 BEEMET7 X2 (20) t=5cm 3900 1,696 66, 144
m2




SHBENRE REJ{EILEE BHX FE(-12mEETH(ZD3I)

£ i g - BIKHiE Bifg = B £ #E wE
1-24 R[E BEHME7ZRO2Q0)HETE t=5cm 39. 00 1,971 76, 869
m2
s 13, 500
1-25 P& FTRAI7Ib3% 9.00 1,500 13, 500
t
wLhERRET 240, 162, 153
WET 240, 162, 153
HoRavRsavRqL 236, 865, 973
1-26 #HERMITA (1) $2.0m L=5.5m (F#) . K1 A~G B 371.00 217,698 80, 765, 958
P
1-27 #ERITA (2) ®2.0m L=6. Tm (F1J) . X1 H~1 SDHA#H 53. 00 260, 895 13, 827, 435
P
1-28 #HERMITIA (3) ¢2.0m+1.6m L=8. 6m (F19) . X1 H ~1" #& 53. 00 303, 696 16, 095, 888
pos
n &
1-29 #HERHITA (4) ¢2.0m L=3.2m (F1J) . X1 J~L SDHHAH 80. 00 154, 604 12, 368, 320
P
1-30 #HERMITA (5) ¢2.0m+1.6m L=8.6m (Ey) . XM J #EEM 26.00 296, 777 7,716, 202
P
1-31 #HERMITA (6) ¢1.6m+2.0m L=8. 6m (F19) . RRE1 K ~L' #E& 53. 00 276, 946 14,678, 138
pos
n &
1-32 #ERMITA (7) ¢2.0m L=5.3m (F) . X1 A~G Bl 238.00 212, 050 50, 467, 900
P
1-33 #HEFHIITA (8) ©$2.0m L=6.7m (Fty) . M2 H~1 SDHFAH 34.00 260, 281 8, 849, 554
P
1-34 #HERMITA (9) ¢2.0m+1.6m L=8.4m (Fy) . BKR2 H ~1" #H& 34.00 297, 061 10, 100, 074
pos
n &
1-35 FHE R HLTIA (10) ®2.0m L=3.2m (F#) . X2 J~L SDHERAM 51.00 153, 991 7,853, 541
P
1-36 #ERMAITA (11) ¢2.0m+1. 6m L=8.4m (F1y) . K2 J BEEM 17.00 290, 143 4,932, 431
P
1-37 #HERHITA (12) ¢1.6m+2.0m L=8.4m (F#)) . K2 K ~L' S 34.00 270, 898 9,210, 532
M
P




SHEBEENRRK R5J1E LI B X B B (- 12m) & TH(ZF D3)

% R R - BARSTiE B % B B & i) m o=

I = DAL/ AT @1% k- 3,296, 180
1-38 4o Fav/o o3 UmiaR 3EH55m 1.00 3,296, 180 3,296, 180

=X
ek T 2,130,219
&AM B 2,130,219
R RAR - HRZH4 2,130,219
1-39 fREREX MERREHN SP-M# L=Tm 1.00 2,130,219 2,130, 219

=
HERHZE FEL) 109, 682, 270
HERHKE 109, 682, 270
Ef - A VHE 60, 929, 752
= 40, 820, 110
1-40 EfE EXREEM. 6, 000PS 2.00 20, 410, 055 40, 820, 110

=l
Z ULV 6,487, 142
1-41 Z LM (1) T35 JHEM. 23m3 2.00 3,243,571 6,487, 142

=l
Z AR 1,094, 331
1-42 Z LM% (2 TiEM. 1,300m3FE. 2&35|& 1.00 1,094, 331 1,094, 331

=l
Z ULV 860, 331
1-43 2 LVin#E Q) TiEM. 1,300m3%E. 1€35]& 1.00 860, 331 860, 331

=l
PRy 9,421,782




SHEBEENRRK R5J1E LI B X B B (- 12m) & TH(ZF D3)

4 ] R - KT A B #H =2 B O{h * B HE

1-44 Z LVE (4) SCP#¥:55m#Rk 2.00 4,710, 891 9,421,782

[a
Z LM 2,246,056
1-45 Z L Vi# () FEEHEM, 120tH 2.00 1,123,028 2,246,056

[a
B E 6,013,708
R EE K 5,965, 228
1-46 HERDEEEK BERb B Rl 1.00 5,965, 228 5,965, 228

=
JKE BB L EEE 48, 480
1-47 BEBh L IEE R Efit 70— k $300, L=200m 1.00 48, 480 48, 480

=
FEBXMILERE 9,215, 300
KEE B IER 2mx22m, HBEFOAFH, h—TF U Edm 4, 345, 500
1-48 BRI RE 1.00 1,236, 000 1, 236, 000

=
1-49 EEBAIE A 1.00 1,040, 300 1, 040, 300

=
1-50 ;BEBLLIEHSE 1.00 2,069, 200 2,069, 200

=
KEEB LR ¢ 300mm, H—TFTK2m 4,869, 800
1-51 BEBHLIERE 200. 00 4,101 820, 200

m
1-52 ;EEBA LR E 200. 00 3,704 740, 800

m
1-53 FELLIEER 1.00 3, 308, 800 3, 308, 800

=
28 33, 328, 492




BHERERRE

RoIfBILEE B X T BE(-12m)EE T H(ZD3I)

£ 5 R - BARTR B 2 1t & # &

RERE =5 541,093

1-54 ST ZMFER (10-P%!) 4K .00 412,876 412,876
=

1-55 1ZHATHEFFEE (E-18) 2% .00 128,217 128,217
=

REX K REERM 29, 940, 355

1-56 RELEIEM (1) ERVHF . 7H%8h .00 13, 442, 085 13,442, 085
=0

1-57 REEHM(Q2) ERRVHFEf&E. % 10h .00 9, 665, 434 9, 665, 434
=

1-58 ZEERAMQ)FzvoR—1 2y EMRVHFERH. 5%8h .00 6,832, 836 6, 832, 836
=

REX K REBHEEKR 2,847,044

1-59 ZLBEMMEMBEES (1) HifT&. #%8h .00 1,841,964 1,841,964
=

1-60 RELEREMEMBTES (2) Hifr&. #%E10h .00 1, 005, 080 1, 005, 080
=

BiEEE 84,000

BT EE M TIEHRFE 84,000

1-61 HifiEEE EZRYUIRE .00 84,000 84,000
=

KE - BEEEREH 111,018

KEREF 72,837

1-62 KEREH (1) 52 J#EMm. $D 23m3 00 31,066 31,066
%

1-63 KEREH (2) TEM. 8D 1, 300m3FE. 3E .00 13,636 13, 636
%

1-64 KEREH (3) Y RavRy 3 Ui, $DE 35E2E55m 00 28,135 28,135




BHERERRE

RoIfBILEE B X T BE(-12m)EE T H(ZD3I)

% R R - BARSTiE B 2 i ® # m o=

BERRH 38,181
1-656 FERKRH IR ERER 1.00 38,181 38, 181

=
REE 8,062, 089
TEREXRB 8,062, 089
E#ERE 2,402,710
E#ERE 2,402,710
FryoR—1Ury (GBL) @ 66mm & A FLIERES0mK i 1,589, 820
-1 \BER—Y 5 () e 10. 20 22,048 224,889

m
-2 BER—U T2 BERY (LFREY L) 36. 90 36, 990 1,364, 931

m
RuERR (8L BREFEARAR 812,890
2-3 BREBEASR HRY (LFELY LR 37.00 21,970 812,890

=l
R E 5, 659, 379
R E 5, 659, 379
%% 168, 450
2-4 REER 1.00 168, 450 168, 450

=
HEAE 335,535
2-5 MERAIE (8L STy MRIE 5.00 67,107 335, 535

i

Ri5 ARy FEMR 3,667, 221




BHERERRE

RoIfBILEE B X T BE(-12m)EE T H(ZD3I)

% R R - BARSTiE B 2 fifl & i) ]
2-6 RIS 1.00 636, 617 636, 617
=S
2-1 BIGRE 1.00 212,686 212, 686
B
2-8 BEBEK 4.00 227,308 909, 232
B
2-9 BiIEHWE 1.00 212,686 212, 686
B
2-10 ZR/Xy F&EfpiEH JKiZE10mA 1.00 1, 696, 000 1,696, 000
=
Bk 1,471, 355
2-11 RidEfip - RBE 1.00 972, 883 972, 883
=
2-12 #4138 (1) R=yvi<iy 1.00 154, 262 154, 262
=
2-13 H##EHE (2) RNy FAMIKERT0mER 1.00 344,210 344,210
=
HEIEE 16,818
2-14 EIEHE 1.00 16, 818 16,818




K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

&S 1-1
& WERBE 1B&HY (94m 3)
2 £ g - BIRTE By = B O ® W E 5 &
EEHM GEMIERD) $8D 120t H
B 1.00 881, 656. 00 881,656 6.00H / 8H
5fn £HD 700PSEY
=] 1.00 215, 593. 00 215,593/2.00H / 8H
MAH 2KD%
% 0.50 1,097, 249. 00 5, 486
= g 1YE%HES : 94.00m 3 11,731.00 1,102, 735
‘S :1-2
W BHRE AR - ER Tm3%Y
£ £ g - BIRTE By = B Ol & % W= 5 &
a#55 B ER
m3 1.00 289.1 289. 1
= it 1E%HEH : 1.00m 3 289.1 289. 1
&5 :1-3
&7 : BlR - sIsAEE  200keg/ERH 1HHY (121m3)
£ £ g - BIRTE By = B Ol & % W= 5 &
EEHM GEMIERD $8D 120t H
B 1.00 881, 656. 00 881,656 6.00H / 8H
5fn £HD 700PSEY
B 1.00 215, 593. 00 215,5932.00H / 8H
AN 2{KDY%
% 0.50 1,097, 249. 00 5, 486
= g YEZERESN : 121.00m 3 9,113.00 1,102, 735
‘S :1-4
& BHRE AR - ER Tm3%Y
£ £ g - BIRTE By = B Ol & % W= 5 &
a#55 B ER
m3 1.00 289.1 289. 1
= it 1E%HEH : 1.00m 3 289.1 289. 1




K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

&S :1-5
& AMNE mARKEZEI0cmLT 1B%Y (20m3)
% £ g - BIRTE BT = B O ® W E 5 &
HEE&
A 1.00 24,150. 00 24,150
IR XR
A 4.00 23,000. 00 92, 000
Ny Z R FEF50. Tm3 (E38)
B 1.00 69, 484.00 69, 484
KEITL—h SME 1, 300kg#k
B 1.00 89, 572. 00 89, 572
avJLyy— tHE2. 5~2.8m3/min
=] 1.00 5,098.00 5,098
R—R 20m
B 1.00 180. 00 180
JL— kNN
B 1.00 1, 200. 00 1,200
HERE
= 1.00 26, 775. 00 26, 775
HME 2KD%
% 0.50 308, 459. 00 1,542
= g 1E%HESH : 20.00m 3 15, 500. 00 310, 001
&S :1-6
B VS JKE #HETEITHNSIO 1TH%HY (3156m 3)
% £ g - BIRTE BT = B Ol & % W= 5 &
55 DB EMREEER) (X/8y FR) #8D 23. Om3
B 1.00 5,125, 562. 00 5,125,562 8.00H / 10H
Slfn (¥ 5 T#iEMm (RN FK)) #8D 2000PSE!
B 1.00 404, 214. 00 404,214/2.00H / 8H
HME 2{KDY%
% 0.50 5,529, 776.00 217,648
= g YEZERES - 3,156.00m 3 1, 760. 00 5,557,424




K& -ET/\vr—2

R5J{EILEE BHEX FE(-12mEETH(ZDI)

&5 :1-1
&Fr U5 JREREEMBER) R RNy RIS TRER 1KLY
2 £ g - BIRTE By = B O{f ® W E 5 &
55 DB EMREEER) (X/8y FR) #8D 23.0m3
=] 1.00 2,173, 050. 00 2,173,050 ftF
Slfn (¥ 5 T#iEMm (RN FK)) $8D 2000PSE!
B 1.00 224, 690. 00 224,690 #F
= it 1YEZHERH - 1.00K 2,397, 740.00 2,397,740
&S :1-8
& LEMER: 1, 300m3%E (1B 1H%Y (3156m 3)
£ £ g - BIRTE By = B O{f € W E 5 =&
+iE i (8 #01300m3%& (ZEAR)
=] 3.00 386, 100. 00 1,158, 300 10H
b £HD 2000PSZY
B 1.00 529, 063. 00 529,063 4.00H / 10H
SRR S 2{KDY%
% 0.50 1, 687, 363. 00 8, 436
= g YEZERES - 3,156.00m 3 537.00 1,695, 799
&S5 :1-9
&% - EREXSLT SED 6, 000PSEY 1BHY (3156m 3)
£ £ g - BIRTE By = B O{f & % W= 5 &
ZEREEMR £HD 6000PSEY
B 1.00 6,919, 669. 00 6,919,669 6.00H / 10H
SRR S 2{KDY%
% 0.50 6,919, 669. 00 34, 598
= g YEZERES - 3,156.00m 3 2,203.00 6, 954, 267
&= :1-10
B EREEMME 1KLY
£ £ g - BIRTE By = B O{f & % W= 5 &
EREEMR £HD 6000PSEY
B 0.50 2,829, 320.00 1,414,660 48
= g 1YE%HEH - 1.00K 1,414, 660. 00 1,414, 660




K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

&5 :1-11
W A EAYBERE - BE 10484 1)
2 £ g - BIRTE By = B O ® W E 5 &
& #ED 30t/
B 10. 00 943, 234. 00 9,432, 340 8H
LEEXE
A 30.00 20, 580. 00 617, 400
MAH 2KD%
% 0.50 10, 049, 740. 00 50, 248
= g 1YEZHES - 10. 0048 1,009, 998. 00 10, 099, 988
&BES:1-12
£ ELRRERE - BE ZHES. On 30mH Y
£ £ g - BIRTE By = B Ol & % W= 5 &
TARAK *O15cmx 1. 8m
m3 0. 40 8,575.00 3,430
K>y 8tia
B 0. 40 35, 919. 00 14,367/4. 70H / 8H
BhH<I
A 0.10 24,780. 00 2,478
LEEXE
A 1.60 20, 580. 00 32,928
AN 2{KDY%
% 0.50 53, 203. 00 266
= g 1YEZHES - 30.00m 1,782.00 53, 469
&S :1-13
B HERE ELZHLE)RE - #E ¢ 660mm 60m% Y
£ £ g - BIRTE By = B Ol & % W= 5 &
STFL—riL—r A AR ER) CHEMfs> J&)25tH
B 1.00 44, 500. 00 44,500 8H
K>y 8tia
B 0. 40 35, 919. 00 14,367/4. 70H / 8H
LEEXE
A 5.00 20, 580. 00 102, 900
AN 2KDY%
% 0.50 161, 767.00 808
= it 1YEZHES : 60.00m 2,709.00 162, 575




K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

‘S 1-14
&M JO—42ERE - #BE 61, 300mm 60mz Y
2 £ g - BIRTE BT H = B O ® W E 5 &
& #ED 30t/
B 0.60 943, 234. 00 565, 940 8H
LEEXE
A 4.00 20, 580. 00 82,320
MAH 2KD%
% 0.50 648, 260. 00 3, 241
= g 1YEZHES - 60.00m 10, 858. 00 651, 501
&S :1-15
B BERDERRIE ¢ 660mm 1KLY
£ £ g - BIRTE BT H = B Ol & % W= 5 &
J0—% [$i&] £5.0m &1, 300mm HEREE660mm
AX-H 337.50 2, 500. 00 843, 750
aq Yy TLE] £1,500mm %660mm
&-8 375.00 1, 140. 00 427,500
HeRE [HHE] £K6.0m #%660mm
AX-H 13, 762. 50 453. 00 6,234,412
oA x—O0—7 #%26mm L=50m
AX-H 150. 00 374.00 56, 100
Foh— BE3t
&-8 150. 00 1,090. 00 163, 500
AN 2{KDY%
% 0.50 7,725, 262. 00 38, 626
= g 1YEZHEH - 1.00K 7,763, 888. 00 7,763, 888
&S :1-16
B HeRbwEBY I LYEAIBE (0. Tm3) 1KLY
£ £ g - BIRTE BT H = B Ol € W E 5 =&
e LR EI# 0.7m3x 1. 1m
B 5.00 127,842.00 639,210 4.00H / 8H
AN 2KDY%
% 0.50 639, 210. 00 3,196
= g 1YE%HEH - 1.00K 642, 406. 00 642, 406




K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

&S 1-17
B SERRYIET 7R T 7L MEEERR, 15ecmA T Tm%y
2 [ g - BIRTE By = B ® % W E 5 &
R TR 7 MR, 15emL T
m 1.000 549.7 549.7
= it YEZEREDN - 1.00m 549.7 549.7
&S . 1-18
B SRR 7R T 7L MEERR. 15em T Tm2%yY
2 [ g - BIRTE By = B ® % W E 5 &
LR AR B R TR 7 MR, 15emL T
m2 1.000 167 167
= it YEZEREN : 1.00m 2 167 167
&5 :1-19
B PRI 7IL LGEW  SEERRBER. 150mLL TR Tm3%yY
2 [ g - BIRTE By = B ® % W E 5 &
T AT 7 I FRRIEHK SRR AR, 15omdL T
m3 1.000 2,199 2,199
= it 1E%HEH : 1.00m 3 2,199 2,199
&S5 :1-20
& RIEY Tm3HyY
£ [ g - BIRTE By = B ® % W= 5 &
KRIEY
m3 1.000 278.6 278.6
= g 1E%HEH : 1.00m 3 278.6 278.6




RS- T Svr— REGIE LIPS HE B3 X 2 B (-1 2m) S TH(Z D3)

&5 :1-21
2% HREL Tm3%Y
2 [ g - BIRTE v H = B 4 ) W E 5 &
HRL
m3 1.000 1,730 1,730
= g 1YE%HEH : 1.00m 3 1,730 1,730
BES:1-22
£ . ERERREE RFAM. t=15cm Tm2%yY
2 [ g - BIRTE v H = B 4 ) W E 5 &
LR FRA#. t=15cm
m2 1.000 232.2 232.2
& it 1E%HEN : 1.00m 2 232.2 232.2
5 :1-23
&% ZEE BEBMETX32(20) t=boem Tm2%Y
2 [ g - BIRTE v H = B 4 ) W E 5 &
HiE BAMHMET7 X2 (20) t=bcm
m2 1.000 1, 696 1,696
= H YEEREN :1.00m 2 1,696 1,696
5:1-24
&% KB BAEBAMETRAO2Q0)HKEIE t=bcm Tm2%Y
£ [ g - BIRTE :-vd H = B K4 ) W= 5 &
=[E BAEHMET7RO20)HXETE t=5cm
m2 1.000 1,971 1,971
= H YEEREN :1.00m 2 1,971 1,971




K& -ET/\vr—2

R5J{EILEE BHEX FE(-12mEETH(ZDI)

&S :1-25
B MHNE TRI7ILEH 100t 1)
% £ R - BIRTiE BAf H = B Ol & # = 5 &
nn#& FTRAI7IL A5
t 100. 000 1, 500. 00 150, 000
= g YEZERES £ 100.00 t 1, 500. 00 150, 000
&S :1-26
LZ : WEHITAN)  ¢$2.0m L=5.5m (FEH) . KT A~G B 1B4Y (51.4K)
% £ R - BIRTiE BAf H = B Ol & # = 5 &
B (FrE R A MEMRSY5
m3 1,287.13 2,000. 00 2,574, 260
o RavnNI T3 UM 35E&E5H5m
=] 1.00 5,894, 989. 00 5,894,989 8.00H / 10H
Hy k=2 25 IJARE 3.0m3 1000m3F&
B 1.00 629, 674. 00 629, 674 10H
B #ED 25t/
B 1.00 832, 695. 00 832, 695/8H
TR £81000m3%&
B 1.00 265, 867. 00 265, 867 10H
Elb £HD 800PSEY
B 1.00 229, 450. 00 229,450 2.00H / 8H
F—S U4 THRE - 2 Ravy E&55m &R, 800~2, 000mm
<3 UA] 7N 3.00 169, 950. 00 509, 850
GNSSRIfI & Ho RavnNyg g mA
B 1.00 82, 665. 00 82, 665
Y¥5E4E% 8 (10H/8)
A 4.00 28, 650. 00 114, 600
A 2EDY
% 0.50 11, 134, 050. 00 55,670
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25




K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

&S :1-59
2 REBERMEMEERE (1) HiffE. B#Esdh 1KLY
2 £ g - BIRTE By = B O ® W E 5 &
Bt &
A 58.00 31, 600. 00 1,832, 800
AN 2{KDY%
% 0.50 1, 832, 800. 00 9,164
= g 1YEZHERH - 1.00K 1, 841, 964. 00 1,841, 964
= : 1-60
£ REGEHRMEMERE () B8, F%E1o0h 1KLY
£ £ g - BIRTE By = B Ol € W E 5 =&
Hfi&
A 27.00 37, 040. 00 1,000, 080
MAH 2KD%
% 0.50 1, 000, 080. 00 5,000
= g 1YE%HEH - 1.00K 1, 005, 080. 00 1,005, 080
&S : 1-61
& BiiEEE T4 UJRE 1KLY
£ £ g - BIRTE By = B Ol ® % W= 5 &
EZAYVTRE
I 2.00 42,000. 00 84, 000
= it 1YE%HEH - 1.00K 84, 000. 00 84, 000
&S :1-62
ZF  KEBREE () TS5 THEM. D 23m3 1KLY
£ £ g - BIRTE By = B Ol ® % W= 5 &
KEREH
= 1.00 31, 066. 00 31, 066
= it 1YE%HEH - 1.00K 31, 066. 00 31, 066
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K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

&S : 1-63
25 KEREE (2) LEM. $D 1, 300m3E. 3E 1KLY
2 £ g - BIRTE By = B O ® 5 &
KEREH
= 1.00 13, 636. 00 13, 636
= it 1YEZHEH - 1.00K 13, 636. 00 13, 636
&S :1-64
L KERBEE Q) B Fa/o P 3 UM, $HDE 35&EHS5m 1KLY
2 £ g - BIRTE By = B O ® 5 &
KEREH
= 1.00 28,135.00 28,135
= it 1YEZHEH - 1.00K 28,135.00 28,135
&S :1-65
27 EEREH HHRIEXE 1KLY
2 £ g - BIRTE By = B O ® 5 &
EEREH
= 1.00 38, 181. 00 38, 181
= it 1YEZHEH - 1.00K 38, 181. 00 38, 181
&S 2-1
Zi . BLER—) S () L 1BH&Y (Tm)
£ £ g - BIRTE By = B Ol & % 5 &
wR=) o<y 3. TkW#k
B 1.00 8,231.00 8,231/8H
B A Em
A 1.00 53, 800. 00 53, 800
FEHERES
A 1.00 39, 100. 00 39, 100
hWERES
A 1.50 29,100. 00 43, 650
AN TEHRER
% 7.00 136, 550. 00 9, 558
= g YEZHESN - 7.00m 22,048.00 154, 339

27




K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

‘S :2-2
2 BLER—) LS Q) HERM (LFEYLH) 1B&4Y (4.8m)
2 £ g - BIRTE By = B O ® % 5 &
wR—=) o<y 3. TkW#k
B 1.00 8,231.00 8,231/8H
B S E R Am
A 1.00 53, 800. 00 53, 800
FREHERES
A 1.00 39, 100. 00 39,100
hWERES
A 1.50 29,100. 00 43, 650
AN TEHRER
% 24.00 136, 550. 00 32,772
= g 1E%HESN : 4.80m 36, 990. 00 177, 553
&S5 :2-3
2 BEBEARR HBEW (LFRECUYLIH) 184Y (8.1ED)
£ £ g - BIRTE By = B Ol € 5 =&
wR=) o<y 3. TkW#k
B 1.00 8,231.00 8,231/8H
B S E R Em
A 1.00 53, 800. 00 53, 800
FEHERES
A 1.00 39, 100. 00 39, 100
hWERES
A 1.50 29,100. 00 43, 650
MAH TEHRER
% 24. 30 136, 550. 00 33, 181
= it 1YEZHES - 8.10[E 21,970. 00 177,962
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K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

‘S :2-4
2 REER 1KLY
2 £ g - BIRTE By = B O ® W E 5 &
B S E R Em
A 1.50 53, 800. 00 80, 700
FEHERES
A 1.50 39, 100. 00 58, 650
hWERES
A 1.00 29,100. 00 29,100
= it 1YEZHEH - 1.00K 168, 450. 00 168, 450
&S :2-5
L MIBREGCEL) FS2Pv hEIE 184Y G#R)
£ £ g - BIRTE By = B Ol & % W= 5 &
REE 54 kN2 2
B 1.00 3,261.00 3,261 2.00H / 8H
pelh=s: ) FRP D 70PSZE!
B 1.00 45,961. 00 45, 961 8H
B A Em
A 1.00 53, 800. 00 53, 800
FREHERES
A 1.00 39, 100. 00 39, 100
hWERES
A 2.00 29,100. 00 58, 200
AN 2H0%
% 0.50 200, 322. 00 1,001
= g YEZRES : 3. 00K 5 67,107.00 201,323
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K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

&S :2-6
275 . RIBHIER 1H LY
2 £ g - BIRTE By = it ® W E 5 &
B S E R Em
A 2.00 53, 800. 00 107, 600
FEHERES
A 2.50 39, 100. 00 97, 750
hWERES
A 7.00 29,100. 00 203, 700
STFL—riL—r A AR ER) CHEMfE> J&)50tH
B 3.00 74, 800. 00 224,400 8H
AN 2{KDY%
% 0.50 633, 450. 00 3,167
= g 1E%HED - 1. 00E 636, 617. 00 636, 617
&S :2-1
2 RIBHRE EGER,
£ £ g - BIRTE By = it € W E 5 =&
5fn £HD 100PSEY
B 1.00 80, 078. 00 80,0782.00H / 8H
B S E R Em
A 1.00 53, 800. 00 53, 800
FEHERES
A 0.50 39, 100. 00 19, 550
hWERES
A 2.00 29,100. 00 58, 200
MAH 2KD%
% 0.50 211, 628. 00 1,058
= g YEZHED 1. 00 FR 212, 686. 00 212, 686
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K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

&S :2-8
2 RIBHH EGER,
2 £ g - BIRTE By = B O ® W E 5 &
5fn £HD 100PSEY
B 1.00 80, 078. 00 80,078/2.00H / 8H
B S E R Am
A 1.00 53, 800. 00 53, 800
FREHERES
A 0.50 39, 100. 00 19, 550
hWERES
A 2.50 29,100. 00 72, 750
AN 2E0%
% 0.50 226, 178. 00 1,130
= g 1YEZHED 1. 00 FRr 2217, 308. 00 2217, 308
&S5 :29
&% BIBEE EGER,
£ £ g - BIRTE By = B Ol € W E 5 =&
5fn £HD 100PSEY
B 1.00 80, 078. 00 80,0782.00H / 8H
B S E R Em
A 1.00 53, 800. 00 53, 800
FEHERES
A 0.50 39, 100. 00 19, 550
hWERES
A 2.00 29,100. 00 58, 200
MAH 2H0%
% 0.50 211, 628. 00 1,058
= g YEZHED 1. 00 FR 212, 686. 00 212, 686
= :2-10
£ RNy FERER KIEIOmA 1KLY
£ £ g - BIRTE By = B Ol & % W= 5 &
Ei=E 2]
= 1.00 1, 696, 000. 00 1,696, 000
= g 1YE%HEH - 1.00K 1, 696, 000. 00 1,696, 000
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K& -ET/\vr—2

Rod{EILEE iR F B (-12mEETH(ZDI)

&5 2-11
B REM - REE 1KLY
2 £ g - BIRTE By = B O ® W E 5 &
@M FRP D 70PSZ! 3.0t
B 20.00 44, 652. 00 893, 040 8H
REE >4 kN2 2
=] 23.00 3,261.00 75,003 2. 00H / 8H
MAH 2KD%
% 0.50 968, 043. 00 4,840
= g 1YEZHEH - 1.00K 972, 883. 00 972, 883
BES:2-12
LR HAERR () KR—Ui<i Y 1KLY
£ £ g - BIRTE By = B Ol & % W= 5 &
A2 o R 4tF5 2t
B 1.00 37,095. 00 37,0955.80H / 8H
hWERES
A 4.00 29,100. 00 116, 400
AN 2KDY%
% 0.50 153, 495. 00 767
= g 1YEZHEH - 1.00K 154, 262. 00 154, 262
&S :2-13
B AHEWR (2) RNy FEMKZE10mER 1KLY
£ £ g - BIRTE By = B Ol € W E 5 =&
STFL—riL—r A AR ER) CHEMfE> J&)50tH
B 2.00 74, 800. 00 149, 600 8H
hWERES
A 4.00 29,100. 00 116, 400
B E TEHRER
= 1.00 76, 880. 00 76, 880
AN 2{KDY%
% 0.50 266, 000. 00 1,330
= g 1YEZHEH - 1.00K 344, 210. 00 344,210
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RIER-TEI/\vr— R541E L% B i X 2 B (—12m) B i TH(ZD3)

‘S :2-14
& EIEEE 1Xz5Y
2 [ g - BIRTE v H = B 4 ) W E 5 &
EIEEE
= 1.00 16, 818. 00 16, 818
= it 1YEZHEH - 1.00K 16, 818. 00 16, 818

33




EHifi#&

BlRES - 1-1

BifiRA 5 - BB GEfER) (D 120t/

Rod{EILEE iR F B (-12mEETH(ZDI)

1H2Y 6.00H / 8H

% FR B8 - KT BfL £ fifi i) 1 & &

EiHA

L 404. 00 93.50 31,714
A&

A 1.20 28, 980. 00 34,776 8=1.20
EfRMmE

A 1.20 28, 980. 00 34,776 8=1.20
TEma

A 6.00 23, 730. 00 142,380 5=1.20
B EEHMIER - 7« —ELKD D 120t/

B 6.00 33, 000. 00 198, 000 B IR

B GEE#MIER - 74 —ELKD D 120t/

=] 1.65 263, 000. 00 433, 950| =1. 65 #HHEABE
=) &t 881, 656
HfiRES : 1-2
Biffik& % : 51 $ED 700PSE 1H%Y 2.00H / 8H

% FR B8 - KT BfL £ fif i) 1 & &

EiHA

L 160. 00 93.50 14, 960
EfRMmE

A 2.40 28, 980. 00 69, 552| B=1. 20
TEma

A 1.20 23, 730. 00 28,476 8=1.20
BH (Gl R D 700PSZ!

B 2.00 5, 350. 00 10, 700 B IR

BH (Gl R D 700PSZ!

=] 1.65 55, 700. 00 91,905 @=1. 65 #HHEABE
=) &t 215, 593




EHifi#&

Rod{EILEE iR F B (-12mEETH(ZDI)

HifXRES : 1-3
HBERAM : /Ay oKD FFEO. Tm3 (FF8)
2 £ g - BIRTE B = B ff & % # 5 &
EEF (5%
A 1.00 23,210.00 23,210
8
L 113. 40 127.50 14, 458
BH (NyoRy (Uo—3) [Z#]) HAHARE (F2Xx) WE1. O0m3
=] 1.64 19, 400. 00 31,816 HERAEHRE
= it 69, 484
HiXRES : 1-4
BlREM : KBIL—h SHER 1, 300keghk
£ £ g - BIRTE B = B ff & % # 5 &
EEF (5%
A 1.00 23,210.00 23,210
8
L 113. 40 127.50 14, 458
B (NyoRy (vo—3) [Z#]) HAHARE (F2Xx) WE1. O0m3
=] 1.64 19, 400. 00 31,816 HERAEHRE
B (KBEIJL—h (R—RIIUEF HEE21300kgik
ED) =] 1.86 10, 800. 00 20, 088 HERAEHRE
= it 89, 572
HilXRES : 1-5
HBEREM: - oLy — HHE2 5~2 8m3/min
£ £ g - BIRTE B = B ff & % # 5 &
8
i} L 22.00 127.50 2,805
B (ESEREE (AR - T D UER BEE A R %R (55 1 REH) 2.5m3/min
- =] 1.56 1,470.00 2,293 HERAEHRE
= it 5,098




Hfi* RodfEILEE B X FEC-12mFETH(ZD3I)
Hf&RES : 1-6
BlRAM : U5 7 %5%MN (EEmER) (/3 FX) 48D 23. 0m3 1B Y 8.00H / 10H
% 7 Mg - RORTIE Bify ¥ B L] & # ] w %
HidA
L 2,692.00 93.50 251,702
faE &
IN 1.43 28, 980. 00 41,441 B=1.43
=R &
IN 2.86 28, 980. 00 82,882 B=1.43
TEmE
IN 10. 01 23,730.00 237,537 B=1.43
BH (U5 7% (SR /Xy kD 23.0m3
;] 5 el 8.00 168, 000. 00 1, 344, 000 eI
BH (U5 7% (EaEhiEm) /Xy kD 23.0m3
# B 1.65 1, 920, 000. 00 3,168,000 a=1.65 pAAe
& &t 5, 125, 562
BlRES : 1-7
BfRAM : 5 (05 TREM (/8 FKX))  §ED 2000PSE 1THZ1Y 2. 00H / 8H
% 7 Mg - FORTIE Bify ¥ B L] & ® ] w &
HidA
L 456. 00 93.50 42, 636
=R &
IN 2.40 28, 980. 00 69,552 B=1.20
TEmE
IN 1.20 23,730.00 28,476 B=1.20
BH Gl R D 2, 000PSH!
B 2.00 13, 800. 00 21, 600 eI
BH Gl R D 2, 000PSH!
B 1.65 143, 000. 00 235,950 a=1.65 pAAe
& &t 404,214




EHifi#&

R5J{EILEE BHEX FE(-12mEETH(ZDI)

HffikEFS : 1-8
BlRAH . 75 J8%MmEERER) (X/4y FX)  $ED 23. 0m3 1Y #/A
% FR B8 - KT Bif £ B ® # = i &
mER
A 1.00 28, 980. 00 28,980
Sk
A 2.00 28, 980. 00 57, 960
EEME
A 71.00 23, 730.00 166, 110
BH (U7 78%EMREEmER) /Xy D 23.0m3
A =] 1.00 1,920, 000. 00 1,920, 000 #HHEAHE
& & 2,173, 050
HffixREFS : 1-9
HifikBHH : 51 (T35 TREM Ry FX)) $ED 2000PSH 1Y #/A
% FR B8 - KT Bif £ B ® # = i &
Sk
A 2.00 28, 980. 00 57, 960
TEME
A 1.00 23, 730.00 23,730
BH (Gl [HE]) D 2, 000PSZ!
=] 1.00 143, 000. 00 143, 000 #HHEABE
& & 224, 690
HifiRES : 1-10
BifiFRA 5 . £EM ) #01300m37E (FRA 1H5Y 10H
% FR B8 - KT Bif £ B ® # = " &
B R tERERRD 1, 300m3&
=] 1.65 234, 000. 00 386, 100| r=1. 65 #HHEABE
& & 386, 100




EHifi#&

BlRES : 1-11

HffiZk4 % - #a  §AED 2000PSE!

Rod{EILEE iR F B (-12mEETH(ZDI)

182Y 4.00H / 104

% FR B8 - KT BfL BB B ' # 1 & &

EiHA

L 912. 00 93.50 85,272
EfRMmE

A 4.29 28, 980. 00 124,324 =1.43
TEma

A 2. 86 23, 730. 00 67,867 8=1.43
BH (R R D 2, 000PSZ!

B 4.00 13, 400. 00 53, 600 EERRFE

BH (R R D 2, 000PSZ!

=] 1.65 120, 000. 00 198,000 a=1.65 #HHEABE
=) &t 529, 063
HfiRES : 1-12
BlRAT : EXREXM §HD 6000PSE 1B2Y 6.00H / 104

% FR B8 - KT BfL BB B i ' # 1 & &

EiHA

L 6, 778. 00 93.50 633, 743
AR

A 1.43 28, 980. 00 41,441 8=1.43
EfRMmE

A 2.86 28, 980. 00 82,882 8=1.43
TEma

A 8.58 23, 730. 00 203, 603| B=1.43
B (EREER) D 6, 000PSZY

B 6.00 278, 000. 00 1, 668, 000 B IR

B (EREER) D 6, 000PSZY

=] 1.65 2, 600, 000. 00 4,290,000 a=1.65 #HHEABE
=) & 6,919, 669




EHifi#&

BlRES : 1-13

BifiRA % - ZREEM D 6000PSE!

Rod{EILEE iR F B (-12mEETH(ZDI)

1Y #/A

% FR B8 - KT BfL =S B ' # = & &
AR
A 1.00 28, 980. 00 28, 980
EfRMmE
A 2.00 28, 980. 00 57,960
TEma
A 6.00 23, 730. 00 142, 380
BH (EREER) D 6, 000PSZY
=] 1.00 2, 600, 000. 00 2, 600, 000 #HHEAHE
=) & 2,829, 320
BlRES : 1-14
Hifik4% : 5 #D 30t/ 1BH4Y 8H
% FR B8 - KT BfL =S B ' # = & &
EiHA
L 207.00 93.50 19, 354
EfRMmE
A 2.40 28, 980. 00 69, 552| B=1. 20
TEma
A 3. 60 23, 730. 00 85,428 3=1.20
B (e D 30tA
=] 1.00 264, 000. 00 264, 000 EiR A
B (e D 30tA
=] 1.65 306, 000. 00 504, 900| =1. 65 #HHEABE
=) &t 943, 234




EHifi#&

BlHRES : 1-15
BlREM: FSvY 8t

Rod{EILEE iR F B (-12mEETH(ZDI)

1B2Y 4.70H / 8H

% 7 L - IRTiE BT = B @ € H# i 5 &
23
i} L 38.00 127.50 4, 845
BEF (—fR)
A 1.00 20, 160. 00 20, 160
BH (v o [EER]) 1~8ti&
S 4.70 673.00 3,163 B ERRERE
BH (v o [EER]) 1~8ti&
A 1.13 6, 860. 00 7,751 #“AA
& it 35,919
HmRES : 1-16
BEREM : S7TL—29 L—r HEARRER) (ChEMBES IR 25tH 1BHY 8H
% 7 R - IRTE BT = B @ € H# i 5 &
gH (S7FL—2HL—r [HESBES 25tH
7 =] 1.00 44, 500. 00 44,500
& it 44,500
BlRES : 1-17
BlFRAF  ELIEAIBE 0. 7m3x1.1m 4.00H / 8H
% 73 L - BIRTiE BT = B @ ® H# i 5 &
23
i} L 68. 00 127.50 8,670
EBEF (35
A 1.00 23, 210. 00 23,210
B8 CELIERIH)
S 4.00 6, 130. 00 24,520 B ERFERE
B8 CELIERIH)
A 1.89 37, 800. 00 71,442 #“AA
& it 121, 842




B % REGHEILI% 5 B 0 X A (-1 2m) 8855 TH(Z D3)

BlRES : 1-18

HAERAM : v Farn\oy o asfim 3EEDM 182 8.00H / 104
% FR B8 - KT BfL BB B ' # = & &

EiHA

L 5, 206. 00 93.50 486, 761
A&

A 1.43 28, 980. 00 41,441 8=1.43
EfRMmE

A 2. 86 28, 980. 00 82,882 8=1.43
TEma

A 12.87 23, 730. 00 305, 405/ B=1.43
B (o ravo v avi) DE (3EH) KE55m

B 8.00 216, 000. 00 1,728, 000 B IR

B (o ravo T avi) DE (3EH) KE55m

=] 1.65 1,970, 000. 00 3,250, 500 a=1.65 #HHEABE
=) &t 5, 894, 989

BlRES : 1-19

BEKREHM : Ay b= F5TFE=Z 3.0m3 1000m3%E 1H%Y 10H
% i & - Bk B % = B ® % mE # &
EihA
L 450. 00 93.50 42,075
ISPt
A 2.86 28, 980. 00 82,882 B=1.43
LTEME
A 2.86 23, 730. 00 67,867 B=1.43
BHE Iy kn=2) D 1,000m3 3.0m3
=] 1.00 158, 000. 00 158, 000 EERH
BHE Iy kn=2) D 1,000m3 3.0m3
=] 1.65 169, 000. 00 278,850 a=1.65 A
& it 629, 674




EHifi#&

BlHRES : 1-20

Rod{EILEE iR F B (-12mEETH(ZDI)

BmRAH : S D 25t/ 1H&Y 8H
£ R g - T Bifis S B ® # i ik &
A
L 190. 00 93.50 17,765
Sk E
A 2.40 28, 980. 00 69,552 3=1.20
TEME
A 3.60 23, 730. 00 85,428 B=1.20
BH (55EMm) D 25t@
H 1.00 226, 000. 00 226, 000 pEL T =|
B/H (58Mm) D 25t@
H 1. 65 263, 000. 00 433,950 a=1.65 #“AR
& it 832, 695
BiERES : 1-21
Bz AF - BETER  §§1000m3FE 1H%Y 10H
£ R g - T Bifis = B ® # i ik &
TEME
A 2.86 23, 730. 00 67,867 B=1.43
BH (BETEi) $1000m37&
H 1. 65 120, 000. 00 198, 000 a=1. 65 #“AR
& it 265, 867
BEXRES : 1-22
Bifl&RA% : 5/ 4ED 800PSE! 1B%Y 2.00H / 8H
£ R g - T Bifis = B ® # i ik &
A
L 182. 00 93.50 17,017
Sk E
A 2.40 28, 980. 00 69,552 3=1.20
TEME
A 1.20 23, 730. 00 28,476 B=1.20
B (Gl D 800PSE!
BFfE 2.00 5,970. 00 11, 940 SEL TR |
B (Gl D 800PSE!
H 1. 65 62, 100. 00 102, 465 a=1.65 #“AR
& it 229, 450




EHifi#&

BlRES : 1-23

Rod{EILEE iR F B (-12mEETH(ZDI)

HAERAM : v Farn\oy o asfim 3EEDM 1Y #/A
% FR B8 - KT BfL =S B ' # 1 & &
AR
A 1.00 28, 980. 00 28, 980
EfRMmE
A 2.00 28, 980. 00 57, 960
TEma
A 9.00 23, 730. 00 213,570
B (o ravosavi) DE (3EH) KE55m
=] 1.00 1,970, 000. 00 1,970, 000 #HHEAHE
& & 2,270,510
BlRES :1-24
BliRAF : Ay bA—2 F5TF= 3.0m3 1000m3FE B8Y #A
% FR B8 - KT BfL =S B ' # 1 & &
EfRMmE
A 2.00 28, 980. 00 57, 960
TEma
A 2.00 23, 730. 00 417, 460
B (Hy k=) D 1,000m3 3.0m3
=] 1.00 169, 000. 00 169, 000 #HHEABE
& & 274, 420
BlRES : 1-25
HifiR4% : 5 #D 25t/ B8Y #A
% FR B8 - KT BfL =S B i ' # 1 & &
EfRMmE
A 2.00 28, 980. 00 57, 960
TEma
A 3.00 23, 730. 00 71,190
B (e D 25t&
=] 1.00 263, 000. 00 263, 000 #HHEABE
& & 392, 150

10




EHifi#&

BfHRES : 1-26
BERAT : JL—fFEM 35~40tH

Rod{EILEE iR F B (-12mEETH(ZDI)

1H2Y 6.00H / 8H

% 7 L - IRTiE BT = B @ € H# i 5 &
Bl fh
L 94.00 83.90 7,886
MEE
A 1.20 28, 980. 00 34,776 B=1.20
LTERE
A 6.00 23, 730. 00 142,380 B=1.20
B (v L—2fER) s0O—549 L—3b~40tR  AH300tTE
A 1.00 13, 600. 00 13, 600 EER A
B (v L—2fEMR) s0O—549 L—3b~40tR  AH300tTE
A 1.65 70, 100. 00 115, 665 a=1.65 #“AA
& it 314, 307
BlRES : 1-27
B{fHFAF : S SED 300PSE! 1H%Y 6.00H / 8H
% 7 L - BIRTiE BT = B @ ® H# i 5 &
=ihA
L 206. 00 93.50 19, 261
A
A 1.20 28, 980. 00 34,776 B=1.20
LTERE
A 1.20 23, 730. 00 28,476 8=1.20
EH (G lEE]) D 300PSE!
S 6.00 2,520.00 15,120 B ERFERE
B (G EE]) D 300PSE!
A 1.65 26, 200. 00 43,230 a=1.65 #“AA
& it 140, 863
HmRES : 1-28
BlREH  ZELERM D 1, 500PSH
% 73 L - BIRTiE BT = B @ ® H# i 5 &
B (RLEEM D 1, 500PSE!
A 1.00 250, 000. 00 250, 000 #“AA
& it 250, 000

1




EHifi#&

BlRES : 1-29
BifiR45 : TEERM FRP D 180PSE!

Rod{EILEE iR F B (-12mEETH(ZDI)

1H2Y 6.00H / 8H

% 5 g - IRT & By g fif & # i % &
EihA
L 37.00 93.50 3,459
Bk E
A 1.20 28, 980. 00 34,776 B=1.20
LEMmE
A 1.20 23,730. 00 28,476 B=1.20
#B# (SEM FRPR]) D 180PSE! 10.0GT
B 1.00 9, 390. 00 9,390 gk
B# (EM FRPR]) D 180PSE! 10.0GT
B 1.65 9, 840. 00 16,236 o=1.65 Cdiel=
& & 92, 337
HfiRES : 1-30
BfRE  RLERM FRP D 180PSEH 1E2%Y 8.00H / 10H
% 5 g - MIRTE By g fif ® # i % &
EihA
L 49.00 93.50 4,581
BRE
A 1.43 28, 980. 00 41,441 B=1.43
LEMmE
A 1.43 23,730. 00 33,933 B=1.43
#B# (SEM FRPR]) D 180PSE! 10.0GT
B 1.00 9, 390. 00 9,390 gk
B# (SEM FRPR]) D 180PSE! 10.0GT
B 1.65 9, 840. 00 16,236 o=1.65 Cdiel=
& & 105, 581
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EHifi#&

BfRES : 1-31
BifiR45 : TEERM FRP D 180PSE!

Rod{EILEE iR F B (-12mEETH(ZDI)

1H2Y 6.00H / 8H

% i R - BTk BT = B & % 1 # &
EihA
L 37.00 93.50 3,459
SEtEE
A 1.20 27, 600. 00 33,120
LTEME
A 1.20 22, 600. 00 27,120
#BH (BEM[FRPH]) D 180PS& 10.0GT
=] 1.00 9, 390. 00 9,390 A
B (EMFRPH]) D 180PS& 10.0GT
=] 1.65 9, 840. 00 16,236 a=1.65 A
& it 89, 325
BifiRES : 2-1
BEKRLH . R—U i<y 3Tk 1H4Y 8H
% i R - Bk BT = B f ® % 1 # &
&
i} L 9.00 127.50 1,147
B (R—) o< o iaERXD 3. TkW#R
=] 1.00 1, 640. 00 1, 640 A
B (R—) o< o iaERXD 3. TkW#R
=] 1.44 1, 800. 00 2,592 A
B (V57 bRy TEREE] H H 830~70L/min
=] 1.00 1,280. 00 1,280 EERH
B (V57 bRy TEREE] H H 830~70L/min
=] 1.63 965. 00 1,572 A
& it 8, 231

13




EHifi#&

R5J{EILEE BHEX FE(-12mEETH(ZDI)

BERES : 2-2
BlRAM : KBEHE 4 b 2L 1B%Y 2.00H / 8H
£ R R - kTR Bifis ® = B ) i ik &
Ay
L 6.00 147.50 885
BHE (54 MU [ZHHERE]) FETEIE HR=E2.0L
S 2.00 290. 00 580 SEL TR |
BHE (54 MU [ZHERE]) FETEIE HR=E2.0L
S| 1.19 1,510. 00 1,796 #“AR
& it 3, 261
BEXRES : 2-3
Bfi&k4L# - AIEM FRP D 70PSHY 14y 8H
£ R R - kTR Bifis ® = B ) i ik &
A
L 44.00 93.50 4,114
=R E
A 1.20 27, 600. 00 33,120/ 3=1.20
B8 (&M [FRPEL]) D 70PSE 3. 0GT
H 1.00 3,200. 00 3,200 pEL T =|
B8 (@M [FRPE) D 70PSE 3. 0GT
=] 1.65 3, 350. 00 5,527 a=1.65 #“AR
& & 45, 961
BEXRES : 2-4
BEREM: STTL—20L— B ARKMER) (ChEMHEED TR 50tA 1H&Y 8H
£ R R - kTR Bifis ® = B ) i ik &
B8 (ST7TL—2PL—> [HEMEDS 50tRA
7 H 1.00 74, 800. 00 74, 800
& & 74, 800

14




X R5A{RILAE SR F B (-12mEE T H(EZ DI)
Bifi&ES : 2-5
HfiF&k4% - 5148 $ED 100PSE! 1B%Y 2.00H / 8H
% i R - BTk BT = {ifl & % 1 # &

EihA

L 23.00 93.50 2,150
SEtEE

A 1.20 27, 600. 00 33,120 B=1.20
LTEME

A 1.20 22, 600. 00 27,120 B=1.20
B (5 () D 100PSE!

BFfE 2.00 924.00 1,848 SEETRC |

B (5 () D 100PSE!

=] 1.65 9, 600. 00 15,840 a=1.65 A
& it 80, 078
BifiRES : 2-6
B{mRLH : @M FRP D 70PSE! 3.0t 1H4Y 8H

% i R - Bk BT = {ifl ® % 1 # &

EihA

L 30. 00 93.50 2,805
ISPt

A 1.20 27, 600. 00 33,120 B=1.20
B (&AM [FRPE]) D 70PSE! 3.0GT

=] 1.00 3, 200. 00 3, 200 A
B (&R [FRPE]) D 70PSE! 3.0GT

=] 1.65 3, 350. 00 5,527 a=1.65 A
& it 44, 652
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BEi{fE RSB ILEE B B EE(-12m) EE TE(F D3)

HfREFS : 2-7
Bf&REHM : VI L—fF bS5y Y 4FE 2th 1H%Y 5.80H / 8H
% FR FE - KT & Bif H B B ® # = i &

L2
i} L 33.00 127. 50 4,207
EERTF (B%)

A 1.00 22,100. 00 22,100
BH (FSv o[ Lb—vEREMD R—X Ty I4~4 5t REEN2.0t

s 5.80 539. 00 3,126 EER R

BH (FSv o[ Lb—rvEREM]D R—X Ty I4~4 5t REEN2.0t

=] 1.23 6, 230. 00 1,662 #HHEAHE
& & 37,095
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